R S ——

@

This question paper ¢ ine :
[ q paper contains 12 printed pages.] 24

Sr. No. of Question Paper
Unique Paper Code
Name of the Paper
Namc_ofthc Course

Semester

Duration

Maximum Marks

Instructions for Candidates

278 C

22413307

Personal Finance and Planning
B. Com (Hons.) CBCS

{1l

3 Hours

75

Deshbandhu.College Library:
~aikall, New Delhl-19

1. Write your Roll No. on the top immediately on receipt of this question paper.

5. Answer all questions.
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fa) What amount: would Mr Goswami need to invest in order tO get Rs-

5. 5,00,000 after e

: d fund
. ‘0 balance
years? He is a moderate risk taker and likes his investment tO be made 10

ryative side-

where the : e conse
return can be estimated at 12% per annum to be on th

. . : . . 0 er annum
Which option should he prefer out of the following, if the rate of interest 1S 8% P

and compounding is done anm.l-zilly‘?

(i) Rs. .1,(.)0,000,today

(ii) Rs. 1,40,000 two years later

(iii) Rs. 1,60,000 three years later. ’ (1)
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(i) 1,00,000 ¥ I
(ii) 1,40,000 T A A A
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(i) 1.60,000 T I
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Explain the concept of digital wallet. List any five online platforms of digital wq
(b) Exp = allets,
)
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>, (a) Ms. Navita is evaluating two securities X and Y. The expected returns and standard

deviation of the returns of these securities are:

Securities Expected Return Standard Deviation
X 10% 13%
Y 19% 22%
&
N
Degree of Correlation is 0. &%
NS
N
S

Find out the expected réturns and standard deviation of the following portfolios:

(i) 100% of X.

(i) 75% of X and 25% of Y
(i) 50% of each X and vy

(iV) 100% Of Y. (9)
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(b) “Risk and return have

. investment decisions. (6)
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—u):(,‘a!:chlt required rate of return on shares A, B, C, and D on the basis of following

information:

Risk free rate of return 7%

Market rate of return 13%

Betz value of four shares A, B, C and D are 2.5,1.5, -0.4 and 0.7 respectively.
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(b) “The risk represents the fluctuations in the returns of a security due !

» [n light of the s

specific to the particular firm and not to the market a8 4 whole.

g causing such risk.

statement identify the type of risk and also explain some ke¥ factor
(7.5)
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3. (a) Mr A is having his income under the head business & profession. His annual income 18

15 lakh. He wants to diversify his business, whereby, he would be generating agricultural

income of 4 lakh annually. He has two choices: either to continue as sole proprietary

concern or set up a partnershin@fm by taking family members as partners. Show the tax

R

calculations and suggest@suitable form of business organization on the basis of his
computed tax liabil@&\Q - (9)
N
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(b) “Tax Avoidance is 2 legal way to limit taxes; Tax Evasion is not”. Do you agree with

2 i our answer.
t2 Justify ¥ | (6)

the given statemen
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(a) Mr. X (31 years) has been offered an employment on monthl'y §alary of Rs. 90,000 & his

tax liability is calculated as under:
Salary: (90,000%12) = 10,80,000

Less: Standard deduction = 50,000

&
Net Income: =10,30,00 Q§
N3
Q
N

Tax on Net Income: =1,26,360

Is it possib .
Possible to reduce tax liability? Draft his remuneration structure. @)

e
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T (90,000%12) = 10,80,000
e 'é’sé Rewm = s0,000
g€ FE = 10,30,000

AT T W dEw = l,;(;,360
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(b) When an act of a person is condemned as Tax Evasion. Explain with suitable example.

(6)
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4. What is protection policy? Why does an individual need a protection policy? Explain the

factors determining the amount of protection policy? What is the tax benefit of buying

insurance? (15)
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Bvnlain different types of insurance on the p_asis of risk? What type of risk is taken éare
(a) bExplal

- . 2 f) .
of by buying a life insurance policy? Explain. o
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(b) Explain different types of life insurance policies in India? (6)
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5. (a) Chalk out a retirement pl@ or Mr S, 30 year old, a salaried employee who hopes to retire

by 5. Consider the inflation rate to be 8%, monthly expenses to be 40,000 pm & another

Rs. 40,000 annual expenses. Assume all these expenses will persist until retirement.

(10)

;’“ﬁ”’hﬂ%m@%mﬁmmaﬁmmwwwﬁ
553%mm%ﬁ'ﬁiﬁaﬁaﬁmm%m&aa%,mﬁmmo

RIGE :
mmmﬁmm 40,000 T W FER X W e 3 @ @
TRy

Download all NOTES and PAPERS at StudentSuvidha.com


http://studentsuvidha.com/
http://studentsuvidha.com/

278

11

| 5
(b) Write a short note on Reverse mortgage. ©
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(a) Mr X is aged 48 yrs. He is married & currently working with MNC as a senior

in Ahmedabad. His wife is the only member in his family dependent on him. He wants

to retire at the age of 60 years & has a family history of longevity over 80 yrs.

His retirement needs per month as per today’s basic & utility expenses are 60,000 plus

travelling expenses ISOOO.gE%tal domies to 75000 pm. Calculate how much fund will he
O

be requiring consider%@inﬂation rate to be 8%. Advise him a suitable retirement plan.
(10)
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